Do iy = 6 550 ol Y1 laa
ol il SCR
9 —(-7)= 12+1=

10° = (-8) = 20+2=

6 —(-3) = (-2)" +(-4) =

(-1 +6= 2’ —(-8) =

2° —(-6) = 4 +(-6) =

4> —(-1) = 23 +(=5) =

(-8)’ ~(-6) = 2 -8=

1 +(-2) = 10° +(=7) =

55+ (-8) = (=8)" +(=5) =

5+(—4) = (9’ = (=9 =
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o Sy =, 6B 555 momaall )
ol il s
9° — (=7) =736 1’+1=2
10— (-8)=9 204+2=3
6> — (=3) = 39 (—2)° + (—4) = (-3)
(-1 +6=7 22— (-8)=12
2> —(-6) =10 43 +(—6) = 58
£-(-1)=17 2+ (=5)=3
(—8)° — (—6) = (—506) 2°-8=0

1> +(=2)=(-1)
52 +(-8)=17

5+(-4) =1

10° + (=7) = 993
(—8)° +(=5) = 59

(-9 = (-9 =10
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